On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1.

50, will be treated as malpractice.

=2

(04 Marks)
(08 Marks)

ricy to get the same loss.
(08 Marks)

efﬁ01ency (08 Marks)
What is electrodeposition? Mention two factors which affect the quality of
electrodepositing. (08 Marks)
Calculate the maximum voltage required lectroly51s of water if one Kg of hydrogen on
oxidation to water liberates 13.985 x<i0! ou‘es and E.C.E of hydrogen is 1.0384x10 8kg/C
(04 Marks)

Define the terms i) Solid angle ii) Plane angle. State arnc explain the laws of illuminations.
(08 Marks)

r which reflects 90% of light
om foot of lamp, which hung

4 meters above the groun‘ N (08 Marks)
Mention the 1mportance ofpolar curve. (04 Marks)
(08 Marks)

\a L
With a neat dlagr m ‘explain the constructlon and working of sodium vgpou\r lamp.
N (08 Marks)
(04 Marks)

Men‘non\tue significance of speed time curve. Derive the expression for totaL‘ d.lstance
trav ed»between two stations and the velocity at braking. Assume quadrilateral speed time
4 (08 Marks)

~<'Deﬁpe co-efficient of adhesion and mention the factors on which it depends. (04 Marke)
x‘i:;;A train is required to run between two stations 2kms apart at a schedule speed of 36kni/ h"

the duration of stops being 20seconds. The braking retardation is 2.7km/h/s. Assummg
trapezoidal speed time curve, calculate the acceleration if the ratio of maximum speed to
average speed is 1.2, (08 Marks)
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; \What\ls tractive effort? Derive an expression for tractive effort of train consmertrlg the

gxadlem and train resistance. (10 Marks)
Exp am Vvlth the aid of diagrams, series parallel control of motors. *( (10 Marks)

Explam w h ﬁgures braking methods with single phase series motors, -

(08 Marks)
(04 Marks)

npressed air brake system. \
as its speed reduced from 85.5 to 48.3 kmph is 1ra ling 1525mt down a
- fne in ninety (i,e 1 in 90). If regenerative bra,kh

t ol s used, determine the
energy in KWH e ril‘ed to line take 10% allowance for rot omi inertia, 53N/tone for

tractive resistance and the overall efficiency as 80%. (08 Marks)
Explain the systems of Eiee lj_ﬁractlon (08 Marks)
Explain the function of Nega‘uve booster in a tramway({ sysi om. (08 Marks)
Mention the different types of Dlesel — Electric traction.t sed in practice. (04 Marks)

(08 Marks)

(08 Marks)

(04 Marks)
Explain the configuration of series hybrid & lectic Iri i (08 Marks)
Explain the conceptual illustration of-hy tid eleetric ¢ . (08 Marks)
Mention the disadvantages of ser1es h\/‘md electrlcd VP trams. (04 Marks)
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